GABARITO PROVA MARFIM

N¢ da questdo

Alternativa correta

N2 da questdo

Alternativa correta

33

34

35

36

37

38

39

OO |NOO LD WIN|F

40

[E
o

41

[y
Y

42

[EEN
N

43

=
w

44

=
S

45

[EEN
Ul

46

=
(o)}

47

[EEN
~

48

=
oo

49

[EEN
(Yo}

50

N
o

51

N
=

52

N
N

53

N
w

54

N
SN

55

N
(52}

56

N
(o)}

57

N
~N

58

N
[o0]

59

N
o

60

w
o

61

w
=

62

w
N

O/rmmOiz>mMO|>» 0OO0O0O|>» M> >» O0®E 0> > ®E P> OO MMOE

63

64

IO IO|>IOM>O>Pmo(>oOomoOoOoOmo|/>mMmolomo|lom|>OQ|w|0O




